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F(x) =Sin(x+:—137z)

f(X) =S.n(x+§7z')

f(x) =Sin(x_%7[)

f(x) =Sin(x_§,[)

f (x) =sin(2x)

f (x) =sin(-2x)

f(x)= Sin(% X)

f (X) = Sin(—% X)

f (X) =sin(—x)
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f(X)=sinx+
(X)

f(x)=sinx+1
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f(X)=sinx-1

f(X)=2sinx

f(x)=-2sinx

f(X)=—-sinx
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f(X)=2sinx+1 2

= 2(sinx+0.5) 2.]
f(x)=2sinx-1 ‘ 2

=2(sinx—0.5) 2]
f(X)=-2sinx+1 2.

= —2(sinx—0.5)
f(x)=—-2sinx-1 2

= —2(sinx+0.5)
f (X) =2sin2x L

f(x):sin(x—%ir)+1

Plrlkle

1 2
f(X)=29n(=x+=x)+1
(x) (2 37r)

.12
f(X)=-29n(=x——=7x)+1
() Gx=37)




f(x):2§n(—%x+§7r)+l

f(x)= —23in(—%x—§7r)+1
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